Rational Numbers
Exercise 4B

Q2

Answer :

'1) %. This is because 0 can be written as % and

=

=1 =]

5

. This is because 5 = 3.

3
8
= % This is because 7 = 5.

Q3
Answer
Y5 -3
(1) 9778
(9=(1) 3
(-8)=(-1) 8
L.C.M. of 9and 8 iz 72
5x8 _ 40
0x8 12
3x9 1l
Bx9 T2
27 < 40
=<3

So, % is preater.

@]

< 0. This is because 0 can be written as 2 and — 3 < 0.
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(1)

We will convert each nepative denominator into positive.

4 -8
317
4x-1 _ 4
3x_1 3

L.C.M. of 3 and 7 is 21.

—ax(1) s
(g)x(r) 2
(-8)x3 _ =
Tx3 21
(-24) > (-28)
-8 4
T

So, —Ts is greater.

(i)

—12
=2

L.C.M. of 5 and 1 is 5.

—12x1 _ 12
Ex1 &
—3x5 _ 15
1x6 5
—12>-15
—12
= = 3
_le is preater.
(iv)
T =5
9§

L.C.M. of 9 and 8 is 72.

—Tx8 _ 56
ax8 — T2
—5x9 _ —45
gx0 T2
— 56 < —45
7 _5

9 < B

()

A
(“) 1312

‘We will convert each negative denominator into positive.

9%-1 _ -8
—i3x—1 13
Tx—1 _ -7
1Zx-1 12

L.C.M. of 13 and 12 is 156.

_oxiz 108
13:(—12) 156
—Tx13 _ -0

(—12)x13 156
— 108 < —01
9 7

3 STz

Q4

\ 2%
&
Qo positive.

BSISIE

58
5.4
5.2
5.1

1.1



Answer:

Y -3 . -6
0>
L.C.M. of 7 and 13 is 91.
~3x13 30
Tx13 91
—BxT 42
13x7 - "
_30 42
ETa Ty
Sy 5 -3
(ﬂ) T Y 131391
L.C.M. of 13 and 91 is 91. 7117
5x(-7) 35 ]
1 L1
—13x(-7) an

(ijj)—2> =
L.C.Mof1and5is 5.

~2x5 _ 10
1x5 = &
—13x1 _ 13
5x1 ~ &
—10 —13
= 75
: —2 —b
(1 ) 3 <3 2[83
L.C.M. of 8 and 3 is 24. 2]a3
—2x8 _ 16 —
Ix8 24 223
—hx3 —15
Bx3 24 _3£
—16 —15
21 < m

(v)[]{%

L.C.M.of 1 and 5 is 5.

)27 8 1
510 *15 ' 30

L.C.M. of 5, 10, 15 and 30 is 30

55.10,15,30
21236
31133
L1L1
2x6 _ 12
5x6 30
T3 _ 21
10x3 — 30
Bx2 _ 16
15x2 ~ 30
13x1 __ 13
30x1 30

. .2 _ 13 _ 8
Required order: £ < 35 < £ <



7 e
11201602
First, we need to convert each negative denominator into positive.
3 5x-1 -7  9x-1
1P TI2x—17716  —2dx—1
e e |
11216 ' 24

2]4,12,16,24
226812
21346
21323
31,33
B ERER]
L.C.M. of 4, 12, 16 and 24 is 48.

—3%12 _ 36
4x12 48
~Sx4 __ 20
12x4 48
—Tx3 —21
163 48

—9x2 18
24x2 ~ 48

. . -8 - -7 _. -5 _. -9
Required order: == < —= < = < =

) 3 7T 11 17
(m)ﬁ’—ls’ 20 ? 30
First, we need to convert the negative denominators to make
-3 _Tx-1 11 1Tx1
10 ? —15x 1’ 20 * —30% 1
-3 7 -u 17
10715 * 20 * 30

10.15,20,30
2346
13.2,3
13.13
LLL1

il
2
3]
3]

L.C.M of 10415,20,30 = 60 «

_3x6 _ A8 5309000
10x6 < 60

—TxdL 28 o2

T5xd 0 : 4
~11x3 _ 38 g o nsa
20x3 60 4 TN
_17x2 _ _IRE SIS
30x2 ~ 60 . v

—34 _ g 28
Therefore, B0 ‘f'ﬁ < o0 ‘i%
s A7 . 11 . T . -3 q‘
le. 3 <m <% <D
jv)2 3 5 T
Wiz i %12
First, we need to convert the negative denominators to positive ones.

2 3 5x-1 -7
*Tox 112

x4 _ B
Ixd - 12
3x3 _ 9
i3 12
“Ex2 10
6x2 ~ 12
—Txl _ T
i2x1 12

Therefore, the correct order is _?5 < ;—2? < % < %.
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Answer :

Y=2 7 11 19

5 10715 *—30
First, we need to convert each negative denominator into positive.
-2 Tx-1 11 19x-1
5 ' 10x 1° 16 ' —30x 1
2 -7 11 -19

5 10 ? 15 * 30

_5[5.10.1530

2[1236
31,133

BRERER!

L.C.M. of 5, 10, 15 and 30 is 30.

%6 _ 12
Sx6 30
Tx3 _ 2
10x3 30 °
1ix2 _ 22
i5x2 30 °
19x1 _ —19
30x1 30 °?
.2 19 .. 7T .. —11
Correct orde:r.? =TT T T

- 13 8 1
(i) -2-2.5.3
First, we need to convert each negative denominator into positive.

_9 13 &1 1
'8 " 3x-1'3

31633
2]12,1.1
1.1.1.1

L.C.M. of 6, 3and 3is 6.

2x6 _ 12

1x6 6 °

13x1 __ —13 L ¥ Wy
ox1 8 °?

8x2 __ 16 4
3x2 4 6 ! \

1x2 2

3xz 6 N\
Correct order: %}—2>%>78

ra LY

Ty 4 5 T 2 ¢
(m)T‘_lz’ﬁ’._s 4

First, we need to convert each negative denominator into positive.
\
4 Sx—1 7 Zx—1

9 ? 12x 1'18 ' 3x 1
5 -7 _2

4 5 7T
912187 3
39.12,183
33,461
21421
2121
LLLI

L.C.M. of 9, 12, 18 and 3 is 36.

4x4 _ 16
Ox4 36 ?
5x3 _ 15
12x3 ~ 36 °
T2 _ 14
18x2 ~ 36 ?
2x12 24
3x12 ~ 36

R R R | 2
Correct order: T



- 17 11 T 3
(“r) 30?15?10 *5

First, we need to convert each negative denominator into positive.
17x-1 1x-1 7

3
30x—17 15x 17105
17 11 -7 3
30 15 Y105

5]5,10,15,30
2[1236
31,133
L
L.C. M. of 30, 15, 10 and 5 is 30.

17x1 _ 17

30x1 30 °

=2 _ -2

15x2 ~ 30 ?

Tx3 _ -2

10x3 ~ 30 °

3x6 _ 18

Gx6 ~ 30 °?

.3 17 = 11

Correct order: £ > =5 > @7 > — ¢
Q8
Answer:

L.C.M. of 2 and 3 is 6.

_ —3x6 _ 18
3= ix6  ©
_ —2x6 _ 12
2= 1x6 ©
17 —16 —15 14 13 . ]
Therefore s and —— are the five rational number between — 3
and —2. k4 SR
3 2
$ >
£
Q9.
Answer: 4
N/
_ —1x5 1x5
1= 1><5’1 1x5 S
5 5
Ta.ndg
Hence, the five rational numbers between — 1 and 1 are %,Ta,% ,Tl and %
>
Q10 «\J
\
Answer : 3
b .</
3 i
= and 5 O
L.C.M. of 5 and 2 is 10. A
3x2 6x4 _ _24%3 _ _48 A
5%2 T 10xd ~ 40x2 T 80 Vg
1x5 _ —5x4 _ —20x2 _ Sud?
Ix5  10x4 _ d0x2 807

. 3 1 45 44 43 _42 41
Hence, the five rational numbers between = and = are —= , =, = , == and =



